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Entry Level 3 Standardisation

These materials have been prepared in advance of an on-demand standardisation webinar for Functional Skills Entry Level 3 Mathematics.

The training materials consists of:

· Learner Response Sheet
· Mark Scheme
· On-Demand Webinar

We would advise that you either mark the Learner Response Sheet using the Mark Scheme in advance of the video, or alternatively use the ‘pause points’ within the webinar to mark the On-Demand Webinar.

EL3 Standardisation On-Demand Webinar

The Learner Response Sheet and Mark Scheme can be found by double clicking on the PDF icons below.


	Learner Response Sheet
Double Click the PDF to access



	Mark Scheme
Double Click the PDF to access
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EL3 Learner Response Paper 12.pdf
NCFE Entry Level 3 Functional Skills Qualification in
Mathematics
(603/5061/1)

Paper number: Paper 12
Section A: Non-calculator Test

Time allowed: 30 minutes

Learner instructions
e Answer all questions.
e Read each question carefully.
e Write your answers in the spaces provided.
e Show your working, as marks may be awarded for working.
e This shows you where to write your working and answers. @
e State units in your answers, where appropriate.
e Check your work.

Learner information
o The maximum mark for this section is 10.

e The marks available for each question are shown in brackets. To be completed Mark

by the assessor

Resources A | Activity 1 /10
You will need:

e apen, with black or blue ink

e apencil and eraser

e a30cmruler.

Please complete the details below clearly and in BLOCK CAPITALS.

Learner name

Centre name

Learner number Centre number

Do not turn over until the assessor tells you to do so.

All of the material in this publication is © NCFE.





Activity 1: The café
Amy owns a café.

1(a)

library

N ER
= ER

|
l
L]

bus station

school

supermarket

Where is Amy’s café?

Tick (') your answer.

south east from  north west from
the library the supermarket

BIJJ c( )

south west from
the school

74

A( )

This diagram shows some of the buildings near Amy’s café.

Amy’s café

L[]

[1 mark]

north east from
the bus station

o %






1 (b) This clock shows the time the café opens in the morning.

What time does the clock show?
[1 mark]

C_{ ? 21:; Vaa
e —

1(c) Amy bakes cakes and cookies.

Cakes need 675 grams of flour.

Cookies need 315 grams of flour.

How many grams of flour does Amy need in total?
" [2 marks]

@ bak A g
cockiesr = B gt.i,‘qrrums

kﬁ' :k- [; '\T' 2) \1&; o~ L‘\QS C‘bl'-".h"e) GL' -(:\JII_;-‘L'(

Please turn over






1(d)

1(e)

Cakes need 475 g of sugar.

Cookies need 115 g of sugar.

Amy thinks she needs 590 g of sugar in total.

She rounds 475 g and 115 g to the nearest 100 to check her total.

Show how Amy does this check.
[3 marks]

W19, = uqo va,
RS Y T 2.
L 304 Ao = 15 00 2 of Luaas

Amy bakes 22 cookies.
Each cookie needs 12 chocolate chips.
How many chocolate chips does Amy need in total?

Show your working.
[2 marks]

°2’2- cookies
daxc-h ruurLF 2 ehocolake

m_u 12 = 264
e nasd 260 eocalsde chips






1(f) Yesterday Amy made a cake.
She cut the cake into eight pieces and sold two pieces.

Six pieces were left over.

N
@

®

Complete the fraction to show how much of the cake was left over.
[1 mark]

v L

4

[Total marks: 10]

This is the end of Section A.






NCFE Entry Level 3 Functional Skills Qualification in

Mathematics
(603/5061/1)

Paper number: Paper 12

Section B: Calculator Test

Time allowed: 1 hour 15 minutes

Learner instructions
e Answer all questions.
¢ Read each question carefully.
e Write your answers in the spaces provided.

e Show your working, as marks may be awarded for working.
e This shows you where to write your working and answers.
e State units in your answers, where appropriate.

e Check your work.

Learner information
e The maximum mark for this section is 30.

¢ The marks available for each question are shown in brackets.

Resources
You will need:
e apen, with black or blue ink
a pencil and eraser
a 30 cm ruler
a calculator.

To be completed
by the assessor

B | Activity 2
Activity 3

Activity 4

Please complete the details below clearly and in BLOCK CAPITALS.

Learner name

Mark

/10
/10

/10

Centre name

Learner number

Centre number






Do not turn over until the assessor tells you to do so.

Activity 2: Running the café

Amy has some tasks to do.

2 (a) This is one of the baking trays that Amy uses.
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What is the length of the baking tray to the nearest labelled division?
[1 mark]

-
) <A






2 (b)

Amy needs to order new baking trays.

She finds these trays.
baking tray == baking tray
length 278 mm length 28 cm

Amy thinks the 278 mm baking tray is longer than the 28 cm baking tray.

Is she correct?

Give a reason for your answer.

[2 marks]

= A A
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2 (c) Amy weighs some flour.
Which instrument does she use?

Tick (') your answer.
[1 mark]

E s

E 20
F 15

- 10

V4 A( ) B( ) c{\A D( )

2 (d) Amy needs to buy new tables for the café.

She wants tables in shapes that have at least one line of symmetry.

Tick (v) all of the shapes that have at least one line of symmetry.

[1 mark]






2 (e) This diagram shows the places the café delivers to.

It also shows a tally of the deliveries that were made to each place last week.

shopping centre

AT T
O sea front
Wl
North Village
M
Amy’s café
0O
[
South Village
[
Complete the frequency table to show this information.
[3 marks]
@ {alﬂf-!&ﬁ I;V:E,.Ll.ku&,m_”}
%Lea Lronk \ o
Sk oppiny Cen +¥e D
Vorth Village B 1
Coudh Uillaye 3

Please turn over

10





2 (f) Amy checks the temperature in the kitchen.

This graph shows the temperatures in the kitchen on Monday.

Temperatures on Monday

25

15

temperature
(°C)
10

10:00 11:00 12:00 13:00 14:00 15:00 16:00 17:00 18:00

time

How much hotter was it at 12:00 than it was at 17:007?

[2 marks]

Vi MIEIGD:\Q‘?
4*'{111‘35'{3:-8

\q- 9 =4
M 8

e —
m—

[Total marks: 10]
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Activity 3: The staff

Four other people work in the café.

Saruh

3(a) Amy counts the hours that people work.
Claire 36 hours
Alex 25 hours
Jamil 18 hours
Sarah 32 hours
She wants to show the results in a bar chart.
Complete the bar chart.
[4 marks]
> Hours people work
¢ | 3 6
X
32 A\
A
N\
p-
number 74 Xf /
of hours e /
\\“\.
g =
0 5 . 1
Clave Aoy Tl
name

12

Please turn over





3 (b) Claire earns £9.72 per hour.

Round £9.72 to the nearest £1

[1 mark]
P |92
3 (c) This list shows how much each person earns per hour.
Name Amount per hour (£)
Claire 9.72
Alex 9.05
Jamil 9.75
Sarah 9.50
Which number is the largest?
[1 mark]

Jad = 4 £4.35 {5 Yu larged

13





3 (d)

3 (e)

Jamil sells orange juice in bottles of different sizes.

0.5 litres 250 ml 0.2 litres 50 ml
A B C D

He thinks bottle D holds the most orange juice.
Is Jamil correct?

Give a reason for your answer.
[2 marks]

wWo \We \sh & ,:L_H.l{-_t'_i—-

Lt =000 ol
@I{.Cﬂ ‘r;i.?_?-l:}-: 599M\\@non\.{ -9 = i@oml
N%@G‘“ bJ-lHa hold s the rmeost oo 2 }Lﬂﬁu warch

.I i Fl L
KN i S S 77~ S » T ] RV 5
—_—

Alex starts work at 8.20 am
He works for three and a half hours then he starts his break.
At what time does Alex start his break?

Write your answer in numbers using the 12 hour clock format.
[2 marks]

=
G20 Y35 z
- \\+ 60 .
-
e siarks wir brak £ A -H0em

—
_.--_"_-_____‘

[Total marks: 10]

Please turn over
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Activity 4: End of the day
The staff close the café.

4 (a) The café had sales of £250.90 in the morning.
The café had sales of £218.20 in the afternoon.
What were the total sales?

Round your answer to the nearest £1

[3 marks]
V4
= 1 4To-\o
4 (b) Amy takes six hundred and thirteen pounds to the bank.
Write six hundred and thirteen in numbers.
[1 mark]

‘ {612

15






4 (c)

4 (d)

There were 319 tea bags at the start of the day.
The staff used 138 tea bags in the morning.
The staff used 115 tea bags in the afternoon.

How many tea bags were left over at the end of the day?

[3 marks]
AN e ajd
28 Vsd
i T e
138 +\h = 293
214 — 293 = 46
é ek "nt*%‘* g n L \E"F‘{‘
Amy makes icing for different cakes.
The amounts of icing go up in sequence.
What is the next number in the sequence?
0.3kg 0.6kg 09kg C:i2 kg
[1 mark]

Please turn over

16






4 (e) A lemon cake and a ginger cake are left at the end of the day.
The lemon cake weighs 0.6 kg
The ginger cake weighs 590 g
Sarah thinks 590 g is heavier than 0.6 kg
Is she correct?

Give a reason for your answer.
[2 marks]

@qu }(\oﬂ@r;qu% [Total marks: 10]
O;é K\OGE‘: 6@0(_&

She \7 Wttt (s cormech @ﬂek%'{s WheaNie r-

This is the end of the internal assessment.
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EL3 P12 Mark Scheme.pdf
NCF

NCFE Entry Level 3 Functional Skills Qualification in
Mathematics
(603/5061/1)

Mark scheme: Paper 12

Marking guidelines
The following mark scheme gives:

¢ the total marks available for each question
e the subject content referencing
e example process/methods and evidence of the types of responses expected for each mark.

General guidelines

You must apply the following marking guidelines to all marking undertaken throughout the marking
period. This is to ensure fairness to all learners, who must receive the same treatment. You must
mark the first learner in exactly the same way as you mark the last.

o The mark scheme must be referred to throughout the marking period and applied consistently.
Do not change your approach to marking once you have been standardised.

e Reward learners positively giving credit for what they have shown, rather than what they might
have omitted.

e Utilise the whole mark range and always award full marks when the response merits.
Be prepared to award zero marks if the learner’s response has no relevant material.

e Do not credit irrelevant material that does not answer the question, no matter how impressive
the response might be.

e The marks awarded for each response should be clearly and legibly recorded in the grid on the
front of the question paper.

e If you are in any doubt about the application of the mark scheme, you must consult with your
Internal Quality Assurer (IQA).

All of the material in this publication is © NCFE.





To support the valid, reliable and consistent marking of learner evidence, the following abbreviations
are applied throughout the mark scheme:

Annotation | Explanation and use

FT Follow through marks are applied when there are earlier mistakes in the
method.

OE Or equivalent marks are available for the justification of the answer being
presented in a different form to the mark scheme i.e. 0.5 or %.

CAO Correct answer only.

Their ‘Their’ refers to the learners’ own values.

Seen Seen refers to the requirement to see the stated value in the learner’s
response or working out.

| Implied refers to the learner’s response implying correct working out used but

mp
not seen.
Indicates units are not required on final answers or for answers seen within

Brackets :
working.

BOD Benefit of doubt where learner handwriting may be difficult to interpret but
previous working may indicate correct final answer.

Shaded Indicates requirements for full marks to be awarded.






Section A

Additional or Alternative

Activity 1 Marks | UPS/PS Process and Answer Evidence (with guidance) SC
1(a) 1 UPS B indicated only Accept mark other than tick | M20
1(b) 1 UPS 7.25 (am) OE indication of corre_ct time M13

eg seven twenty five
1(c) 2 PS 990 (grams) Award full marks if correct
answer seen
1 675+ 315 OE method N2a
1 990 (grams) CAO N2a
1 (d) 3 PS 500 + 100 = 600 OE method of checking
1 500 and 100 Rounded values seen N5
1 500 + 100 Accept thelr.rounded values in N2a
their method
1 500 + 100 = 600 Accept FT from their values and N2a
method
1(e) 2 PS 264 (chocolate chips) Working must be seen for full
marks
1 22 x12 OE method N4
1 264 (chocolate chips) CAO N4
1(f) 1 UPS CAO N7
4
Total 10
marks






Section B

Additional or Alternative

Activity 2 Marks | UPS/PS Process and Answer Evidence (with guidance) SC
2 (a) 1 UPS 13 (inches) CAO M14a
Decision without reason is
0 marks
2 (b) 2 PS R A ED D OE decision and valid
(is more) .
numerical reason
eg No and 2 mm less
1 .28 cm/280 mm (is more) OE valid numerical reason | /45
eg ...2 mm less
2 (c) 1 UPS C indicated only Accept mark other than tick | M18
2 (d) 1 UPS A B and E indicated only Accept mark other than tick | M19a
OE accurate table with
Place Frequency suitable headings
North Village 7
2 (e) 3 PS ‘ | All rows correct
South Vilage | 3 (accept any order)
sea front 12
‘ | Do not accept tally without
shopping centre | 20
| frequency value
1 Suitable table headings OE suitable headings H21
eg Area/Number
1 Any 2 rows correct H21
1 All 4 rows correct H21
2 (f) 2 PS 11 (°C) Award full marks if correct
answer seen
1 19 (°C) and 8 (°C) Accept written or indicated on H22
chart
Total 10
marks






Section B
Activity 3

Marks

UPS/PS

Process and Answer

Additional or
Alternative Evidence
(with guidance)

SC

3(a)

PS

Hours people work

number
ofhours 20 1

Claire Alex Jamil Sarah

name

OE accurate chart with
all bars labelled and
suitable scale

All bars drawn
correctly

Scale showing 0—40

OE suitable linear scale

H23

Any 2 bars drawn correctly

Accept any indication of
plotting each value
correctly

H23

All 4 bars drawn correctly

Accept any indication of
plotting each value
correctly

H23

All bars labelled correctly

Accept bars in any order

H23

3 (b)

UPS

(£€) 10 (.00)

CAO

M11

3 (c)

UPS

(£) 9.75

CAO

N8

3(d)

PS

No and A

Decision without
reason is 0 marks
OE decision and valid
reason
eg No and D holds the
least

LA

OE valid reason
eg ...D holds the least

M17

3(e)

PS

11.50 am

Award full marks if
correct answer seen

8.20 + 3.5 hours
or
11.50 without am

OE to show evidence of
measuring time
accurately

OE format
eg ten to twelve

M12b

11.50 am

CAO — must include
correct 12hr format

M12c

Total
marks

10






Section B

Additional or Alternative

Activity 4 Marks | UPS/PS Process and Answer Evidence (with guidance) SC
Award full marks if correct
4 (a) 3 PS £469 (.00) answer seen
1 250.9 + 218.2 OE method M10
1 469.1 CAO M10
1 £469 (.00) Accept FT correctly rounded M1
' with correct monetary notation
4 (b) 1 UPS (£) 613 CAO N1a
Award full marks if correct
4 (c) 3 PS 66 (tea bags) answer seen
319-138 or
1 319 — 115 OE method N2b
Their 181 =115 or
1 their 204 — 138 OE method N2b
1 66 (tea bags) CAO N2b
4 (d) 1 UPS 1.2 (kg) CAO N9
Decision without reason is 0
marks.
4 (e) 2 PS N an(tijsor.:ol:g;GOO 9 OE decision and valid
numerical reason
eg No and 10 g lighter
, OE valid numerical reason
1 ...0.6 kg/600 g (is more) eg ...10 g lighter M16
Total 10
marks
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